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FE D XE—K N EM> 2, ||| The train raised its speed .

FIEE D XE—FK NO0 EMD fz, ||| NOO train raised its speed .
FIIEE ) NOO " EAvD T2 - ||| The train raised its NOO .

FIIEE @) NOO NO1 E/M D T2 - ||| NO1 train raised its NOO .
NOO D RE—R M EM> Jz, ||| The NOO raised its speed .
NOO O XE— K NO01 EfM> fz, ||| NO1 NOO raised its speed .
NOO O NO1 ;N EM > 2, ||| The NOO raised its NO1 .

NOO @ NO1 N02 EM> € - ||| NO2 NOO raised its NO1 .
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Sentence id=0"R¥ ([ Z &EL Iz, "
Reference "She had her own way . "

Pattern_id =145"NOO (F ¥ = &L T,

Pattern_id = 145 "N 0O had his own way . "

Original IP=" ([ FE Z= \BL Iz,

Original EN = "He had his own way . "

Decode id=0"<fR& > (d & Z= &L T,

Output "She had his own way . "

TAG 8 "< She > had his own way . "

TRIGRAM -118.832984 VARIABLE -17.032043 PATTERN -12176.252744
SUM -12312.117771

PATTERN -2021.372778 -1022.240279 111 111 0.857100

NOO "% " "She " -0.803003 -0.794262 5237 4423 3035
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Sentence id=0"HRITBFEDNDESTEXRITTIc, "
Reference "He was convicted . "

Pattern_id =175 "N00 (E NO1 D BEEF = F(F £ o

Pattern_id = 175 "The NOO was NO1 to death . "

Original JP = "5 (S 3B D BE &= (T T,

Original EN = "The accused was sentenced to death . "

Decode id=0"<H>(F<BE>DEF & (T t,

Output "The He was guilty to death . "

TAG 9 "The < He > was < guilty > to death . "

TRIGRAM -2211.434113 VARIABLE -35.183444 PATTERN -4199.051280
SUM -6445.668837

PATTERN -33.817419 -1011.163444 141 611 0.777800

NOO " " "He " -0.714797 -0.546066 15970 13696 9893
NO1 "BJE " "guilty " -0.974909 -1.331845 48 48 29
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Sentence d=0"E8 DB LD RICEDDC, "
Reference "The signal changed from greento red . "

Pattern_id = 5792 "NOO /' & NO1 NO2 (C NO3 7z .

Pattern_id = 5792 "The NOO jumped NO1 NO3to NO2.

Original IP="E8 M o R ICFo>& ZD> 2,

Original EN = "The traffic light jumped from green to red .

Decode id=0"<{E/8>MF\F < LD ></55:\>(C<’7T‘*JD > T,

Output "The traffic light jumped from greentored . "
TAG 11 "The < traffic light > jumped < from > < green >to<red > . "
TRIGRAM -20.001958 VARIABLE -3.906401 PATTERN -3.701207 SUM -27.609567
PATTERN -20.625607 -5.803825 111 231 0.888900
NOO {5 " "traffic light " -5.022379 -13.986114 57 6 6
221416 7582 1986 73 2 2 4.848608
NO1"& "M ""from" -5.468747 -8.332586 568 4125 48
1695376 22028893 3509 50 0 0 29.067371
NO2 "7r " "red " -0.830075 -2.160989 53 154 38
181621 1076976 12431 56 94 42 27.245856
NO3 "Z1 D ""green " -7.864134 -6.442975 169 64 3
017629 323078 1117 0 40 0 2.522527
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Sentence id=0"% (F{IFE CTHRE ATz, "
Reference "He went to Kyoto on business . "

Pattern_id = 666 "f& (& 1£35 NOO NO1 17D T,

Pattern_id = 666 "He went NO1 NOO business . "

Original IP="K (FAE ORI ATTD T,

Original EN = "He went to London on business . "

Decode id=0" (FHEB<TCRE ><~A>1T> Iz,

Output "He went to Kyoto on a business . "

TAG 10 "He went < to > < Kyoto on a > business . "

TRIGRAM -31.635600 VARIABLE 46.966509 PATTERN -28.411444 SUM
-13.080535

PATTERN -26.412138 -5.416448 171 1671 0.777800

NOO "C H&F " "Kyoto on a " -4.935776 -10.092929 6 2 2 38382 19369
735000 1.963585

NO1 "~ ""to"-1.436010 -4.722648 1707 15515 936 5630098 72416789
184120 0 0 0 634.525208
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Sentence 1d=0

"TAXADHEEEBEEZEIZEDMND TULEL, "
Reference "No sure cures for AIDS are known yet . "

Pattern_id = 206 "NOO NO1 N0O2 NO3 (& &/ H©H\> T LY N04,

Pattern_id = 206 "We do N 04 know NOO N0O3 NO02 the NO1 yet . "

Original IP="ZD FA ZGF O 2(FD (E T DHD> T LKL,

Original EN = "We do not know the whole story of the murder case yet . "

Decode id=0"< T4/ X D><EE><E><BERZE>FT I DM TUL<EL >,
Output

"We do not know much of a cure for that of the world yet . "

TAG 17 "We do < not > know < much of a > < cure for that > < of > the < world > yet . "
TRIGRAM -154.400645 VARIABLE 5.746834 PATTERN -9.370785 SUM -158.024597
PATTERN -24.586750 -14.907848 111 2761 0.615400

NOO "I - X M " "much of a"-102.186662 -13.372556 8 9 1 77040 6015 88 3 0 0 1.064933
NO1 "FESE " "world " -5.087451 -9.111390 24 550 1 68101 6894238 3 13 133 0 1.002868
NO2 "7 " "of " -6.631931 -8.376980 5857 19451 1445 16487237 111906577 199042800
977.337631

NO3 "Ja5% 7% " "cure for that " -9.033083 -112.001839 131 1 35943 1644 19 150 0 0.949617

NO4 "7£ L\ " "not " -2.839885 -1.545133 6684 2340 1377 34780004 8427214 407899 700 0
968.787064
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Sentence id=0"SS5AC INENTULSD, "
Reference "The swing is swinging . "

Pattern_id = 2554 "NOO /7' NO1 T L\D ,

Pattern_id = 2554 "The NOO are NO1 . "

Original JIP =" M A ([C FE1 T LS,

Original EN = "The branches are swaying about in the wind . "
Decode id=0"< S\ AC>MN<EN>T LD,

Output "The little girls are swinging . "
TAG 8 "The < little girls > are < swinging > . "
TRIGRAM -118.931569 VARIABLE -7.870360 PATTERN -49.528231 SUM

-176.330160
PATTERN -9.898090 -4.731406 /56 315 68 2364 1336 69 0.833300

NOO "/Sv5 A, C " "little girls " -100.000000 -200.000000 3 11 30494 933
49100 0.682555

NO1 "$841 " "swinging " -4.614721 -2.000000 84 10 7 570222 46890 1725
3961 5.361762
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Sentence id=0"SS5AC INENTULSD, "
Reference "The swing is swinging . "

Pattern_id = 2554 "NOO /7' NO1 T L\D ,

Pattern_id = 2554 "The NOO are NO1 . "

Original JIP =" M A ([C FE1 T LS,

Original EN = "The branches are swaying about in the wind . "
Decode id=0"< S\ AC>MN<EN>T LD,

Output "The little girls are swinging . "
TAG 8 "The < little girls > are < swinging > . "
TRIGRAM -118.931569 VARIABLE -7.870360 PATTERN -49.528231 SUM

-176.330160
PATTERN -9.898090 -4.731406 /56 315 68 2364 1336 69 0.833300

NOO "/Sv5 A, C " "little girls " -100.000000 -200.000000 3 11 30494 933
49100 0.682555

NO1 "$841 " "swinging " -4.614721 -2.000000 84 10 7 570222 46890 1725
3961 5.361762
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Pattern Based SMTOIRIXDREEE

JL—XFE
2150 L — X ER
S5AC ||| He

5 A ||| of ||| -100.000000 -100.000000 3 19451 2 1878 24020493 72 1 0 0 147.872000 5758.645016 0.791450
5 A ||| of the ||| -100.000000 -200.000000 3 5694 2 1878 7186804 42 1 2 0 96.662000 2024.412268 0.315356
5 A ||| of the circus ||| -100.000000 -300.000000 3 1 1 1878 307 1 1 0 0 56.832000 573.553112 -0.774277
S5 A ||| of the circus are ||| -100.000000 -400.000000 3 1 1 1878 282 1 1 0 0 19.847000 733.590115 -1.151195
5 A ||| of the swing ||| -2.321928 -204.000000 3 1 1 1878 207 21 1 0 0 -28.040477 361.103121 0.194947
5 A C ||| of the swing with ||| -2.321928 -304.000000 3 1 1 1878 147 11 1 0 0 -65.025477 521.139427 -0.192271
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Pattern Based SMT & Hierarchical SMTMIEL)

S TREER vs BEREHE
(RY kTJ—25 vs RS )
INSX—=5 DI vs %)
]S X —5 DOEFEHE
=0) vs &L\
FERE HAHE vs —EEa—YUXFwo
(—EEa—"JXFTwvwD) (Inside Outside)
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